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PAPER — VI
Full Marks : 90
Time : 4 hours
The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hlustrate the answers wherever necessary

[OLD SYLLABUS |
GROUP — A

Answer any three questions : 10x3

1. What have the major policy changes been
undertaken for increasing human resources in
India after 1991 ? How far have the human
resources of India increased in recent years ?  6+4
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Critically evaluate the Government policies far
marketing the agricultural products in very recent
years. 10

What are the causes behind the decéy of cottage
industries in India in recent years ? How can the
Government revive these industries ? 6+4

Analyse how the tax structure of India is changing |
after 90s. Is it becorning more progressive ? Give
your views on this. 6+4

Analyse the causes of sluggish industrial growth
in India in recent years. 10

Analyse the fiscal sector reform in india in the

post-liberalisation era. 10
GROUP -B
Answer any eight questions : Sx8

Critically analyse the black money control
policies adopted by the Central Bank in recent
times. k 5

How does the paraliel economy work inIndia? 5.
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9. Evaluate the impacts of recent permits of foreign
direct invéstment in some eminent sectors of
India. L 5

10. In the liberalised era, which sector has recorded
maximum growth ? Explain the implications of
this growth. 2+3

11. Discuss the recent problems faced byil the
commercial banks of India. | 5

12. Discuss the steﬁs taken by the Government to
spread education and health care facilities to all
Indians. ;< D

'13. Discuss the major problems faced by Indian
agriculture recently. 5

14. Discuss the major thrust areas of Eleventh and
Twelfth Five Year Plans. -5

15. Explain how the problem of unemployment is
- aggravated in recent years in india. \ 5

16. Discuss the policies that have been adopted to
improve Central State relations in India. 5
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17. Discuss the causes of industrial disputes in India: 5

18. Define poverty line in India and explain its
limitations. 5

19. Evaluate the recent EXIM policies of India. 5

20. Write a short note on Special Economic Zone
(SEZ). 5

21. Write a short note on India's commitments to
. WTO. } 5

22. Discuss the major features of the Indian tax
structure. 5

GROUP - C
Answer any five questions ; 4 x5

23. Give a brief descnptxon of the shortcomings of
public sector in India. 4

24. Discuss briefly the recent credit facilities
available to Indian agriculture. 4

25. What do you mean by demographic dividend ?
How can India enjoy its demographic dividend 72 +2
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26. Critically examine the recent credit control
policies of the Reserve Bank of India. 4

27. Critically discuss the contraction of public
expenditure for rural development in liberalised
era. ' ' 4

28. Discuss two schemes adopted to reduce rural
unemployment in India. 4

29. Discuss the recent changes made in calculatmg
GDP of India. : 4

30. Give abrief account of the Human Poverty Inhex
(HPI). , 4

31. Explain the causes of rural indebtedness in India. 4

32. Writcashortnoteon: ' 4
(i) Mid-day meal scheme

Or

(#f) Janani Suraksha Yo_|ana (Matermty Protectlon
Scheme).
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